OKD A4V

One's Career

B
A F M
=
4 - w
R
0.9MPa (9.18kgf/cm?)
-100kPa (10Torr)
0 60
E F A R) M) B

OBL 0801 17 8 8(1/8 M8x 1.0 28 6 39.9

OBL 1201 19 10 11[1/8 M12x 1.0 29 6 45.2

OBL 1202 19 10 11|1/4 M12x 1.0 32 9 47.1

OBL 1402 22 12 11(1/4 M14x 1.0 37 9 76.8

OBL 1403 22 12 12(3/8 M14x 1.0 38 12 80.4

OBL 1404 22 12 15(1/2 M14x 1.0 39 13 89

OBL 1803 27 14 12(3/8 M18x 1.0 44 9 145.3

OBL 1804 27 14 15(1/2 M18x 1.0 45 13 153.5

1).

“Web .com”
Parts No. Ref No Name of Components Materials Qty Remarks
Treatment Model O B L
Approved Material
" Weight
QY Name
Designed Scale FREE @%6
Drawn Date 2008.9.3 |ynit| MM
Drawing No.

FLOBAL

CORPORATION

A-FS-0434




